12. [Java] ??7?(1): break vs
continue
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import java.util.*;

class Solution {
public int solution(String[] babbling) {
String[] canSay = {"aya", "ye", "woo", "ma"};

int count = 0;

for (String word : babbling) {
String temp = word;

boolean isValid = true;

for (String say : canSay) {
// 0000 000 000 OO0
if (temp.contains(say + say)) {
isValid = false;

break;

if (!isValid) continue;
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// 00 00 00 00
for (String say : canSay) {

temp = temp.replace(say, " ");

// 00 000000 00 (D00 00 00 trim()00 0O0)
if (temp.trim().isEmpty()) {

count++;

return count;

3. P 27?2700 07?0707 9?7

if (temp.contains(say + say)) {
isValid = false;

break;
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for (String word : babbling) {
// 00 0000 000 0000 0O



if (!isValid) continue;

// 00 00 000 000t
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for (String say : canSay) {
if (temp.contains(say + say)) {
isValid = false;

break; // 0 0 for 000 OOOO!
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if (!isValid) continue;

6. continue VS break

for each word in babbling:
for each say in canSay:
if word contains say+say:
isvValid = false

break « 00 OO0 ford 0O
if (!isValid) continue « [J 00 00O 0O word OO
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